TS SUEES T ERY

T [#~]

%5 R

.| B |2 3.)] D |4 ]| Cc |5 ]| A
6.| B |7 8. A |9 | A |10.|] D
11. A 12. 13. B 14. D 15. C
6. A |[17. 18.| C |19.] A |20.| B
21. D 22. 23. D 24. C 25. A
26. D 27. 28.| A 29. A 30. B
3. A |32 33. D |34 B 35| A




PAFFFL00FERFIE ST [H 249
1 A 2. 3. 4. S.
6 D 7. 8. 9. 10.
11. B 12. 13. 14. 15.
16. E 17. 18. 19. 20.
21. A 22. 23. 24, 25.
26. B 217. 28. 29. 30.
31 B 32. 33. 34. 35.
36. C 37. 38. 39. 40.
41, E 42, 43. 44, 45,
46. C 47. 48. 49, 50.




M RERE 109 L5 2 AW AAR [$iB102]
B3 FiEM (60%, 4% each)
1. B Zs E 3. D 4. D 3,
6. D 1 C 8. B 9. A 10.
11. D 12. A 13. B 14. C 15.
FoHa FEEM (BREEERLE R RBIESF F AL 0 40%)
1, I-=m 2385, U-> 234,Th + % ;He W 3 s L
1-b  20%gHg + © se -> 01,5Ay A R
2. ! * 7 Ml
HOMO: o2p, LUMO, n2p, "L
N2 had the highest bond energy because of the largest bond order 3
N2*znd N2"both show paramagnetism property
3. Sc:[Ar]3d'4s?

Ti: [Ar]3d%4s?
V: [Ar]3d%s?
Cr: [Ar]3d°4s!
Mn: [Ar]3d%4s?
Fe: [Ar]3d%4s?
Co: [Ar]3d74s?
Ni: [Ar]3d84s?
Cu: [Ar]3d1%s!
Zn: [Ar]3d'%4s?




e

AREREREE e
“! ,I 1 small A

tag

Fe?" no ligands [Fe(H,0)g*"

H* ][CH.O4"
HC;H Os(aq) == H'(aq) + CH;0y (ag) & = N [13(? H;0,] 1

X
Percent dissociation = 3.7% = -—————— X 100% = ——
ercent disse 10 /) [IIC;H o ]0 510

2 0.10) = 3.7 X 107 mol/l
X == Lo 1 Ji T M L
X ] 00( ) = me

(CHO 1 =[H = x=3T%x107°M

X 100%

[HC,H;05] = 0.10 = x = 0.10M  (to the correct number of significant figures)
H

[HT][C,Hs0,7] (3.7 X 1079(3.7 X 107%)

K, = e B = 1.4 X 10™*

[HC4HsO;] 0.10




